o0 ooogg #20

4 ODOO0ODOOOOOOO

G=(V,E)OOOOOOOOW =wvr--v, (v; € V) 0OOD
0:0000 vy € EOODOOOOWDOOO (walkODOOOO
OW=vuv-v,10,000000000000000:#;00
0 w41 # 00, 000000000 (trail) 0000000000
(vo=0,)00000000,000 (circuit,colsed trail) 0 0 00

000 GOOO00D0ODwWO EOooooDooDooooooooon
000000000 (Eulerian circuit) 0000000000000
0000000000000 (Eulerian trail) 0000

OO0 W =uwvyvy---v, 00 #v(i#7)0000000 (path)0 0
gddoddooodouodonbbbbben=000000000
0O (trivial path) 00 00O

P =wvw;---v, 000 v € EOODO C = wvguy -+ -v,v9 0 00O
00 (cycle) DO OO

G=(V,E)DveVDOoo

degg(v) = tH{u|uv € E'}

00000 (degree) D0 OO
goobo1eboooonobobuoooon

OO0 3 0bo0GoooooooooboooooGooooon,o
gobobooooobobooood

00 W =uww v,,0,00000000000000000
w=v, 00000000000 200 v,v (i<4)0000 v;0
v; 0000 vwiq---v; 0000000000000000 v00
000000000000000v=1(i%#0,n)0000uv_10; 0
w000 000000000000000000000000
00200000000 200000v#0,0000000A000
0000000 2,0000
O0v=1000v=0,0000020000000v =i #
0,n)000:0A0000000000002r+20000000
0000000000000000 8

00000000 http://math.cs.kitami-it.ac.jp/ kouno/kougi.html(Renandi
oo0ooo)ooooooo
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10000000000000000000 (Hierholzer) D OO0
gbbodbbodobobodbob200bbo0o0obooobon
gobboogoobbbuoooobbboooooobooo

004 000GUOOOOOGOOOOOOODOOODOOOODOOO
GOO00OO0oDOobooood

gbobboooobbobuoooobo

OO0 5 000 GOODOODOOOOO0OOODOOOOOODOODOOdG
gobboooobbobuoooobo

b oO0bodboodbobobbooboobobooooo
O0:v---wlo#000000000000000D00000
gbbodgboboboobobuoobbodbboobboooobnoo
goggooobbbbbbbbobbbbbbboev=wdooogo
O0000o00oooooooooooon

004000 : G=(V,F)00000000000000000
000000000C =v,---v,0000000000C0000
0000000000000000000000000000000
000000000000F =E—-{CO000000 }000V'O
F'0000000000000000000000H =(V',E)O
D00 HOOOOOOOOOO0OO0000000HFOO0000000
000GDO00000000CO HOOOOOO v 0000005
00 HOOOO 00000 C,000000000 vmy - - - m,vp
00000000 vw:--vgmy---mpvg---v, 0 CO000 GOODO
oooooo .

000000000000 0000000000000000

000000000000000000000000000000

000

(1)00000000000

(2)0000000000000000000000000000
0000000000000000000000000000
0000000000000000000000000000

00000000
(3)00 (2)000000

gbo3040b000boooboobobobobobobooonoog

Oe6 000 ¢GOODO0OOOODOOOODOObOoOOObLObOOD
gobbooooobboooobbobo20000boboao
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00000000000000000000000000000
000000000000000000000000000000
000000000000 100000000000000000
000000000000000000000000000000
00000000000
000000000 KuanD 19620000000000000
Doooooo
0000000000000000G=(V,E)000w: E—R
Owe)>00000000000000000 (we)dOe000O
0000000)0GO00 W =vyv---0,(000 v, =) 000

n—1

w(W) => ww) 0000000000000 WOO0O00O
k=0

000000000wW)0O00000000wWOO000000
00000000

G00000000(0000000000000000000
0000000000000)0000000000000000
00000000000000

00000000000000020000000G0 1000
e00000000000000¢0O000GOO 0000
000000 G+¢0000G+¢00000000000000
000000000000000000000w(e)=w(e)000
DwdG+¢000000000000000000000000
0000 G0200000 G*0000

gbobobooogbbobuooobbbooonobobogo
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GO200 Gr= (V,EH)ODODODOOUOoDoOOoooooooo

Y w(eODDOD00000D00
eceE*—F

000000000000 0000 Edmonds—Johanson(1973) O
gobbooggbbobuoooobbbooooobobogo

O0000oO0oooO0oO0O0(oO0O00)02000000000
gbobooboboboooboboobobbooobobooooboobog P =

vovr- v, O w(P) =Y w(vv) 0000000000000
k=1
gbobobooogbbbuoooobbboooon
goooobubbbbbdodooooobbbbbooododao
G=(V,E) 00D w: E—R(wle)>00000)000 u=ug
O00000000000w ¢ EO0DDO wlw)=coOO0000O
O0000 w: [VP—RU{cc}000000 P =uvvy---v, O

00 w(P)=)» w_v) 000000v,weV OO0
k=1

d(v,w) =min{w(P)| P =vv; - vw}

gboobtdbtd«Jwdbboobugboboobbogboo
D00O0uweSCVODOOS=V-SOO0000

d(u,S) = min {d(u,w) | we S}
goddooooobbbbboooooooooooooo
d(u, S) = min { d(u,v) + d(v,w) | v € S,w € S}

oooo

So={u} 0000d(ug,So) 0000 d(ug, So) = d(ug,ur) 00
00040100008, = {u,w, }O00000000 uy,ug,...,u;
000000000008k = {u,up,...,u}0000d(u, Sk) =
d(ug,up1) 00000 w1 010000 Sk = {wo, vy ..., Ut }
0000000000000000000
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gboogobobuogboobbuoobboobbobobooboo
Ooboooboo0oooboobo Gooooooooooooo
O00000D00D0O000000000000 (Hamilton cycle) 0 O
O00000000000000000000000000 (Hamilton

graph) 000 0
//\\

/\

oo 12000000 ooooooobobooo
0000000000000 Herschel graph0 000000 OOO
ggbodoooooobobobbobobobbbbobobboouooo
00000 (Hamilton path) 0 O O O O Herschel graph O hamilton
pathOOQOOOQO4d
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oboovrY 0O12000000000000ODODODODOODO
0000 Herschel graph D0 000000 0OO0O0O0O0OOODOOO

gboogobuodgbboobuoobobbuouobobodboo
gbobbbuooogbobbbuoooobbobbuooobmao
Od0b0oo0ooboooboobooboooboobobD ---00b
gbbbodbuogbbodgboobbuodboobbooboo
gobob1oogad

gboogboobbobbooboobuooboobooboo
gbobboogobbbuooobobboago

G
0070000000 deg(v)zu, IG|>300000000

2
goboboogooboo

Ud O0dddodddodododdododdduddooooooooooo
O000000D0DODODOOOOODODODO G=(V,E)OoOoomo
gbbbodbogbbooboobbuodoboobbodoboo
goooo

|G| >3000GO00O00O000000O00O0O00O00ODO0O0OO
OGcO00000000D0O000000uw,weVODwgkEOOO
gbooboon

GUOwOOOOOO0O0O0 G+wODODOOGOO00000 GHuwv
OooooooooooobboooboooooobboooooboOoaG
gogoobbobobbbobouooooooogooboooobibiod w
0000000 GEO00O00000 vyvg---v 0 vy =u,vp =000
gboobobodgbobbodgboobbuodboobbaoboo
gogd

S ={vi|uvis, € B}, T={vi|vvekFE}

gooo
veg S,vgTD00HSUT) < |GlooO00
v,eSNTOOO 000000 GLOOOOOOOOODO

V10 * * - VjUVg—1 * * * V4101
O0000o0Ooooo sSNnT=9oO0O000000
|G| < deg(u) + deg(v) =4S + 4T =4(SUT) < |G|
OO00O0DO0DoOooooooooooon
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00000000000000000000000000000
D00000000000000000000000000000
000000000000000000000000000000
0000000000000000000000000
00000000000000000000000000000
D00000000000000000000000000000
000000000000000000000000000000
0D00000000000000000000000000000
000000000000000000000000000
0000000000000000000 0OG=(V,E)000
D000w:E—ROOec EOODDw(e)>000000000
0000000000GODO000000000 C = v, ---v,v 0

w(C) =Y w(viv;) +w(vyr) 0000000000000000
=1

00000000000000000000000000000

000000000000000000000000000000

goboboooobobbuoooobbbooooobobogoo

godoododouoooouodoooooooouon
ooooooooooooOoO G=(V,E)OOOO |G|looDoOoOo
0 |G|0oo00000000000 Go0000ooooooo
O0oodooooooooooooodoooooooogon
CO0DD0w(C)ODDODODODODODDOODODODODDOODODOOODODOODODOO
Oodooooododoooodooooooooooooon
gooddooooodooooooooooooouoooonog
oooooodgoon

Doooooooooooouooooooooooooooon
O0oodooogoooooooooooooooooogon
odooooooooo

O0odododn00d000d0ooooooooouoogogonn
O000-.00000000000000C0DOOOOOOOO0O (O
O00000000ooooooooD)0n0000D0DODOCOCOOO
000000 f(n) D000 f(») 000 00000000000
00000000000 g(n) = apn®+ap_in* 1+ +ayn+ag
ooooo

Fn) < g(n)

O0o00oooooooooooooooooooooooooon
ooon

f(n)DOOO0Og(n)=Ce"0000 f(n) <gn)DOOOOODO
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000000000000000000f(n)00000 g(n) =Cnd
0000 f(n)<g¢(r)00000000000000000OOO
000

0000000000000000000000000
0D00000000000000000 computer 100000
00000000000000000000000000 200
00000000 computer 0000000 f1(n)0000 fo(n) O
00 f1(n)00000000 f5(p)00000000000000
0000000000000000000000
000000000000 -0000000000000000
00000000000000000000
0000000000000000000000000000
000000000000000000000000000000
000000 computer 10 0000000000000

googbboobodbogbboobuogbooboboo
gobboogn

gbouogbogbbogbboobogbuooboobogboo
gbobobuogbbuodobboobooobuoobbaobodoboo
0000 P=NPOO (P#ANPOO)OOODOODOOOOODOO
goo

00000000000000000000000000000
00000000 00000000
G=(V,E)00000000000000000000000
0000000 10000000000000000000000
0000C=vv-v,n000000000000000000
l<i+l<j<nO00004, 0

vv; € B, vigvi €R
O0o0oOOooboobon
C'=wvy--- ViVjVj—1 " Vj41Vj41V542 - - - UpU1
gboobooobooooobog
w(viv;) + w(vis1vj41) < wW(Vit1) + w(vvji)

Oo000o0oOoC'occopooooooooo
gbogbbodbuodobbooobuoobbobobodoboo
gobobooogbbbuoooobbboooobobogo
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g8 bDobobobobobutbtbtb«wibboboobooougogo
gbboggbuogbbudboooboobbuoobbooboo
gbobboooobbbuooobbboooon

60 56
70
[ ] [ ]
51
2
13| 61 21
35
68
o [ )
68
51 T35

00009 O000G=(V,E)OODODw:V—ROOODODOODO
gbobobboobbodgboobogboooooboooboo
gobo

o000 10 000G=(V,E)DODODw:V—ROOODOODO
gobobooogbobbuoooobobuoooobbbooooo

gbbb 11 gobboogbobbuoogbbbogboboogao
000 GeUboOoboooobooboboboboboboboo
gbboooobbodbogoboooobboobbooboo
goboo

gooo12 0goO00900bi1o0bbobobooooobo
Oob0o0o0b G,wOOODOOODOOODOObOOOOD200O
gbbooobuodgbbodbbooobboobboooboooo
gboboboooobobooooboo
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